=4

EQUILIBRIUM QUANTITIES 2

1)

a)
initial moles
change in moles
equilibrium moles

b)
initial moles
change in moles
equilibrium moles

c)
initial moles
change in moles
equilibrium moles

d)
initial moles
change in moles
equilibrium moles

e)
initial moles
change in moles
equilibrium moles

f)
initial moles
change in moles
equilibrium moles

)
initial moles

change in moles
equilibrium moles

h)
initial moles
change in moles
equilibrium moles

Na@) +
1

-0.2
0.8

Na@) +

-0.3
0.7

Hag +

-1.4
0.6

Hag +

-0.2
0.8

2 SOy
1

-0.6
0.4

2 SOy(g)

+0.3
0.3

PClsg)
2

-0.4
1.6

PClS(g)
2

-0.3
1.7

Work out the actual number of moles of each species are present at equilibrium.

3 Hz(g) = 2 NH3(g)
1 0
-0.6 +0.4
0.4 0.4
3 Hxg = 2 NHzg
2 0
-0.9 +0.6
1.1 0.6
lag = 2Hlg
2 0
-1.4 +2.8
0.6 2.8
lag = 2Hlg
5 1
-0.2 +0.4
4.8 1.4
+ Oz = 2S0gq
1 0
-0.3 +0.6
0.7 0.6
+ Oz = 2S0g(q
0 1
+0.15 -0.3
0.15 0.7
= PClyg + Clyg
0 1
+0.4 +0.4
0.4 1.4
= PClgg + Clyg
3 1
+0.3 +0.3
3.3 1.3

2)

9)

a)

b)

d)

e)

f)

COzq) + 3 Hzg
initial moles 2 4
change in moles -0.5 -15
equilibrium moles 15 25

Write expressions to show how many moles
equilibrium.

=N
=

CHgoH(g) + HzO(g)

0 0
+0.5 +0.5
0.5 0.5

of each species are present at

Na@) + 3Hzg = 2NHsg)
initial moles 1 3 0
change in moles -X -3x +2X
equilibrium moles 1-x 3-3x 2X
Na@) + 3Hzg = 2NHsg)
initial moles 2 2 0
change in moles -X - 3X +2X
equilibrium moles 2-X 2-3X 2X
Hag + lag = 2Hlg
initial moles 3 1 0
change in moles -X -X +2X
equilibrium moles 3-X 1-x 2X
285039 + Ozg = 2SO0z
initial moles 1 1 0
change in moles -2X -X +2x
equilibrium moles 1-2x 1-x 2X
PClsg = PClgg + Clxg
initial moles 2 1 0
change in moles - X +X +X
equilibrium moles 2-x 1+x X
285039 + Ozg = 2S0g(g
initial moles 1 2 1
change in moles -2X -X +2X
equilibrium moles 1-2x 2-x 1+2x
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